S BERLIERHL

9- 26
—. i

9-19. 9-26 MY B0l XML, — M TR I A e e s ild KL, R mrT
2T HEkl . Bk A B W EAS H S AR R 2 Sk AR
VL ANELE 50°C (IR AR 80°C), A5 b B8 2 - J il 4ok AN AT
150mg/m°.

—. B

ATBXHL R A, # Nod. 45. 56. 6.3, 7.1, 8. 9. 10. 11.2.
12,5, 14. 16 3 13 ML 5

B A B DIHLFE I tH A R s . “I”, “3” Bynlifilk 0° o
45° | 90° . 135° . 180° . 225° L NHhAAE.

ML) 7 20k A 3 (No. 4~6.3) Fil D 2 (No. 7.1~16) .

=. &1

No.4~6.3 LZh4e. Hloe. RO . 24l No.7.1~16 F: %L
FHIE . Hlse. BERE . AL3hdl Ak

M. 9-19 BIKMLM A 12 f, 9-26 BUKWLIFoh 16 Fro g T
B AT AR A St v [ AN R I 140nys S R S 2R
HPPHRIE, OSP4 .

Bloe: S AR a0 se A

BRI eSO ER BY (A Al i , g [ e e T s A .

fEghel:  mAsh. PlRFE. BEANAS A . TR LN, Ak
FORARZE, RANRB A .

. T

1. TSRS B RHLIINL S Bedd X, TR0, A EE . Es:
J7 10 LA R B B 5 R

2. 9-19 K 9-26 Ne8(n>1800r/min)F1Ne16(n>1200r/min) &5 .La3t XL H- 46
FRA A s, TS RS .

de RLEEREE D, RAERP IR U] Z ahBLIA 2k s 380V, %2414
B B3.

126



9-19 8%

TE KA RE Sk AR

BUS | B | P | s | &k | s H ) Bl
ik T Tk ) el A
No. [r/min| 2| m¥h | Pa | kW | = 7 KW (4%) 41
1| 824 [3584] 15
2| 970 |3665| 1.7
s Tis Taess 19| Y9OL-2 2.2 M8 X 40
4A | 2900 | 4 | 1264 | 3597 | 2.1 12X 36
5 | 1410 | 3507 | 23
6 | 1558 |3384| 2.6 | Y100L-2 3 M10X 45
7 | 1704 | 3253 26
1| 1174 [4603| 25
2 | 1397 |4684| 29
3| 1616 [4672] 32 | Y112M-2 4
45A | 2900 | 4 | 1839 |4580 | 3.6 M10X45 |12X50
5 | 2062 |4447| 3.9
6 | 2281 |4297| 44
7 2504 |[am2| a8 | 19252 | 55
1| 1610 | 5697 | 4.1
2| 1932 |5768| 48 | Y132S-2 | 55
3| 2254 |5740| 54
A | 2900 | 4 | 2576 |5639| 5.8 M10x45 1250
5| 2844 |5517| 6.4 | Y132S,2 | 75
6 | 3166 |5323| 7.1
7 | 3488 |[5080| 7.9 | YieoM-2 | 11 M12X50 19X 70
1| 2262 [ 7182 7.0
2 | 2714 |7273] 81
3 3167 |7236] 94 | Y16Mr2 | U
5.6A | 2900 | 4 | 3619 | 7109 | 10.2 M12X50 19X 70
5| 3996 |6954 | 11.2
6 | 4448 | 6709 | 125 | Y160M,-2 | 15
7 | 4901 |6400 | 139
1| 3220 [ 9149 125
2 | 3865 |9265] 145 | Y 16M=z2 | 15
3| 4509 | 9219 16.4
63A | 2000 [ 4 | 5153 | 9055 | 184 | Y100L-2 | 185 ) MI2X80 1,5 70
5 | 5690 |8857 | 20.2
6 | 6334 | 8543 | 225 | 'OOM-2 | 22
7 | 6978 |8148| 251 | Y200L,-2 | 30 M 16X 60

127




9-19 BLE XML RE SR AR

WL |5 | 7 | W & |42 k| i H 5 ML W
No. [r/imin| 2 | m¥h | Pa | kw | = 7 KW (4%)
1 | 4610 |11717] 233
2 | 5532 11868 27.0
3 | 6454 |11807| 305 | Y 200L=2| 37 M16 400 QY55’ 110
4 | 7376 |11596| 34.1 > 65" 140
7.1D| 2900 5 | 8144 (11340| 375 )
6 | 9066 |10035| 41.8 | Y 22oM-2| 45
7 | 9988 |10426| 465 | Y250M-2 | 55 | M20X500 QSYM
65" 140
1 | 6594 |15034| 42.3 60" 140
2 | 7913 [15229] 49.0 | Y250M-2 | 55 QsY —
3 | 9232 [15151] 55.4 65" 140
2900 | 4 | 10550 |14877| 62.0 M20< 500
5 | 11649 |14546| 68.2 | 122052 | 75 oy 55140
6 | 12968 |14021] 75.9 ] 65 140
8D 7 [ 14287 [13362| 84.4 | Y 200M-2| 20
1 | 3297 | 3620 | 55 38" 80
2 | 3957 | 3665 | 6.1 | Y132M-4| 7.5 | M10X220 |QsY —
3 | 4616 | 3647 | 6.9 65" 140
1450 [ 4 | 5275 | 3584 | 7.7
5 | 5825 | 3507 | 85 42° 110
- X
S 2ier T334 o5 | Y160M-4 | 11 | M12X300 | QY =10
7 | 7144 | 3231 | 106
1 | 4695 | 4597 | 95
2 | 5633 | 4655 | 11.0 42° 110
3 | 6572 | 4632 | 125 | Y1004 15 QsY 65 140
oD | 1450 | 4 | 7511 | 4551 | 14.0 M 12X 300
5 | 8294 | 4453 | 15.4 ;
S oom3 | ooy | 1] Y180L-4 | 185 oY 48, 110
7 [ 10171 | 4101 | 19.0 | Y180oL-4 | 22 65 140
1 | 6440 | 5840 | 15.7 48" 110
2 | 7942 | 5941 | 188 | Y180L-4 | 22 | M12X300 |QsY —
3 | 9445 | 5801 | 21.8 65" 140
4 | 10047 | 5740 | 24.8 55" 110
Y200L-4 | 30 QsY 22
10D | 1450 | 5 | 12450 | 5495 | 28.0 65~ 140
6 | 13952 | 5244 | 31.4
M 16X 400 ,
Y22554 | 37 QsY 60140
7 | 15455 | 4958 | 35.1 > 65" 140

128




9-19 BLE XML RE SR AR

U5 |#| 7 | W & |4 s | W H 3)) UilA W
No. [/min| & | m*h | Pa | kw | = 7 | kw (4 45)
1 | 9047 | 7364 | 27.7
2 | 11158 | 7491 | 332 60" 140
- X
5 13260 | 7428 [ apa | Y225M-4| 45 | MI6X400 |QeY - -
4 | 15380 | 7236 | 43.7
1450| 5 | 17491 | 6927 | 49.3 vosoM-4| 55 OrY 65~ 140
6 | 19602 | 6609 | 55.4 ” oY 2
M20 500 ;g : ijg
1195 7 | 21713 | 6246 | 61.8 | Y280S-4| 75 QY s
1 | 5990 | 3182 | 8.0
2 | 7388 | 3237 | 96 48" 110
3 | 8785 | 3210 | 11.2 | Y180L-6| 15 | M12X300 |QgY ——
060 | 4 | 10182 | 3128 | 12.7 757140
5 | 11580 | 2996 | 14.3
6 | 12978 | 2860 | 161 Y200L;-6| 18.5 | M16X400 Y 55~ 110
7 | 14375 | 2705 | 17.9 U e QY —= 110
1 | 12577 | 9229 | 47.9
2 | 15512 | 9390 | 57.4 | Y280S-4| 75 75 140
3 | 18447 | 9310 | 66.6 M20X500 | QoY 2 -
1450 4 | 21381 | 9068 | 756 |\ neont 4| o0 £
5 | 24316 | 8678 | 85.4
6 [2r2s1]e2r |59 [ o T T e oy 807170
7 | 30186 | 7822 | 107.0 QY —= 110
125D 1 | 8327 | 3975 | 139 ] ,
2 (10270 | 4043 | 16.7 | 200L+6| 185 oy 35110
3 | 12213 | 4009 | 19.3 ) 75 140
4 [ 14156 | 3007 | 219 | ' 200Lz6| 22 | M16x400
960 | 5 | 16099 | 3741 | 24.8 60 140
6 | 18042 | 3571 | 27.8 | ' 22oM-6| 30 QY —= 110
" 140
7 | 19985 | 3377 | 311 |v250M-6| 37 | M20x500 | Qey &2
75" 140

129




9-19 BLE XML RE SR AR

Wl || 7|3 & |42 K| W& H 5 ML W
No. [f/min| & | mh | Pa | kW | = 7 | kw (4%)
1 | 17670 |11668| 845
2 | 21793 [11874|101.2 | Y315M-4| 132
3 | 25916 11771 117.3 80’ 170
1450( 4 | 30040 [11464[133.3 [\ nre) 4| 160 | M24X630 | Q1Y
5 | 34163 |10967 | 150.5 1 95" 170
6 | 38286 |10457 | 169.1
14D 7 [ 42400 | 9878 | 188.6] ¥ Srobz4| 200
1 | 11699 | 5004 | 245 65 140
2 | 14428 [ 5090 | 29.4 |Y250M-6| 37 QY =
3 | 17158 | 5047 | 34.0 95" 170
960 | 4 | 19888 | 4917 | 38.7 M20% 500
5 [ 22618 | 4700 | 43.7 | 128056 45 o 75" 140
6 | 25348 | 4494 | 49.1 ] 95" 170
7128078 | 4249 | 5a7 | Y 20OM-6| 55
1 | 26377 |15425| 164.6
2 [ 32531 [15700] 107.2| ¥ So°Mr-4) 220 95" 170
3 | 38686 |15563| 228.7 [Y355M,4| 250 | M24X630 | QgY -
1450| 4 | 44841 |15151| 250.9 | Y355L,-4| 280 95" 170
5 | 50995 | 14488 | 293.3 | Y355L,-4| 315
6 | 57150 |13808|329.6 | va00-4 | 355 110" 210
X - e
16D 7 | 63305 |13035| 367.6 | (6000V) | 400 | M30<800 |Qs¥ - —n
1 | 17463 | 6570 | 47.8
2 | 21538 | 6683 | 57.2 | Y3155-6| 75
3 | 25613 | 6627 | 66.4 80" 170
960 | 4 | 29687 | 6456 | 75.4 M24X630 | Q.Y ——
5 33762 | 6180 | 85.1 | ' SoM-6| 0 95" 170
6 | 37837 | 5898 | 95.7
7 141912 | 5575 |106.7] ¥ orotr6| 1O

130




ay=)lex tu
ey

p
e Nl
._|T-_
e
(v=) zex vu (1 .|m|
L] °v
KL
A |
]
|
I
I
|
I
O |
N |
|
]

a
¢
£a

HUX Tu

IX TPNXTY q

il
o0 W\_R

B W AW H EE W W EBYE e~y oN g 2e70

6T-6

135



s 5 o ZH1 NO.4~6.3A 103l KUK 22 M AN R~ 2

Y]l

Wl5
No.

iz

I

N

~F

th

I

IN ~F

D,

D,

Ds

n1>< d]_

A1

N3 X a.]_(:A 2)

As

Ay

Ng X @(=As)

AG np X dz

9-19

¢ 180

¢ 205

¢ 230

8X 7

128

4% 40(=160)

182

92

3X 42(=126)

148/14X & 7

4.5

¢ 200

b 225

¢ 250

8X 7

144

4 44(=176)

198

104

3% 45(=135)

160[14X & 7

b 224

¢ 254

¢ 284

8X 7

160

4X 48(=192)

214

115

3% 50(=150)

171114X &7

56

¢ 250

¢ 280

¢ 310

8X ¢ 10

179

4% 53(=212)

233

129

3X 54(=162)

185/14X &7

6.3

¢ 280

¢ 320

¢ 360

8X ¢ 10

202

4 59(=236)

258

145

3% 60(=180)

204/14X & 7

Wl5
No.

b

iz

N

~F

5k fit

N

~F

G K

a

d

(LES))

b BRI AR

i kg
IS

f

Md; X1

HLLD

100

271

599 | 286

420

200| 350 | 50

300|385

35

M12X 300

43

4.5

110

303

671 | 322

450

200| 390 | 50

300|430

39

M12X 300

54

126

335

743 | 358

500

2801 450 | 50

380|495

43

M12X 300

66

56

140

375

831 | 401

550

3501 485 | 50

450 (534

48

M12X 300

90

6.3

157

423

936 | 451

620

450| 570 |60

570|626

55

M16< 400

138

9-26

Wl5
No.

I

JX

th

I

N ~F

D,

D,

Ds

A1

N3 X a.]_(:A 2)

As | Ag

Ny X 8p(=As)

AG np X dz

b 224

¢ 254

¢ 284

196

4X 57(=228)

250

128

3% 55(=165)

184(14X 7

4.5

¢ 250

¢ 280

¢ 310

221

4% 63(=252)

275

144

3% 59(=177)

200(14X &7

¢ 280

¢ 320

¢ 360

245

4X 71(=284)

299

160

3X 64(=192)

216/14X b7

56

¢ 315

¢ 355

¢ 395

274

5% 61(=305)

328

179

4% 53(=212)

23518X b7

6.3

¢ 355

¢ 395

¢ 435

309

5% 68(=340)

365

202

4 59(=236)

26118X &7

Wl5
No.

b

iz

5k fiti

N

~F

a b

d

(LES))

MBI A

i kg
IS

f Md; X1

HLALD

132

360

711 | 287

761

450

200 | 390 |50

300|430

49 IM12X 30

0 50

4.5

147

405

799 | 322

849

500

280 | 450 |50

380 | 495

55 |M12X 30

0 62

165

450

887 | 359

937

550

350 | 485 |50

450|534

61 |(M12X30

0 78

56

185.5

504

993 | 402

1053

620

450 | 570 |60

570|626

67.5 M16X40

0 118

6.3

209

567

1117 | 451

1167

680

550 | 720 |70

690|780

77 |M20X 50

0 170

136




.GZ2 M ,08T X oGET My 206 M
oY

B 9

——f—

S=) CBx E_

3

T

N_UX <u

Tex eu

o

T
|
vy
— -
_

—F 1

I

= 1
y
ey

T T

Ipx Tu

|

|
k_\

|

o0 M

3

RS Y AW RN B A9T ~ T LUON L

9¢-6
6T-6

137



9-19 &% No.7.1~16D &

B RAHLIME I 222 ST 3R

Wl5
No.

iz

I

IN ~F

th

I

N

~F

D,

D>

Ds

N X d]_ A]_

n3 X a.]_(:A 2)

Az

Ag

Ny X a(=As)

As

X dy

7.1

@315

@ 355

D 395

8X ¢ 10 |227

4X 67.5(=270)

293

163

3% 68(=204)

232

14X ¢ 10

@ 355

D 395

D435

8X ¢ 10 |256

4X 74(=296)

322

184

3X 76(=228)

253

14X ¢10

D400

D450

500

8X ¢ 12 |288

5% 66(=330)

354

207

4% 63(=252)

276

18X ¢ 10

10

D450

500

D550

8X ¢12 320

5 72(=360)

386

230

4 X 69(=276)

299

18X ¢ 10

11.2

500

D560

D620

12X $12|359

5 X 83(=415)

448

258

4X 79(=316)

350

18X 12

125

D560

D620

D680

12X ¢ 12/400

6 X 76(=456)

489

288

4 X 86(=344)

380

20X $12

14

D630

D690

D752

12X ¢ 12/448

6 86(=516)

557

322

5 81(=405)

434

22X $12

16

D710

D770

D 826

16X ¢$12|512

7X 82(=574)

621

368

5 X 88(=440)

484

24X $12

Wl5
No.

b iz

N ~F

tht

fil

N

~F

G K

L M

H a

c

d e

h

f |l g

7.1

177

474 | 1051

509 | 1230 | 1279

280

520

440

300

590

510

193 | 251

61

200

534 | 1185

572 | 1256 | 1431

280

520

440

303

590

510

207 | 265

61

226

599 | 1330

1289 | 1589

280

520

440

310

590

510

223 | 281

61

10

250

664 | 1472

715 | 1317 | 1748

280

520

440

314

590

510

239 | 297

61

11.2

280

744 | 1652

801 | 1565 | 1950

375

700

620

366

780

700

261 | 317

61

125

313

828 | 1841

895 | 1603 | 2159

375

700

620

372

780

700

282 | 338

61

14

350

929 | 2061

1001 | 2031 | 2403

500

900

900

478

1000

1000

336 | 410

112

16

400

1058 | 2351

1144

2090 | 2738

500

900

900

486

1000

1000

372 | 446

112

Wl5
No.

Al K
i fEIBE A
((LESS)

Pl5e
o PR A
((LES))

HLHL
o PR A
((LES))

LT

7 kg

(AEHTHAL
S )

7.1

M24 X630

M20X500

A RE

2316

448

M24 X630

M20X500

@ Hb?%

2316

482

M24 X630

M20X500

2316

573

10

M24 X 630

M20X500

H

2316

627

11.2

M30X 800

M20X500

22320C

1037

125

M30X 800

M20X500

WL
I

22320C

1142

14

M36 X 1000

M30X 800

I

22324C

1979

16

M36 < 1000

M30X 800

AL
JLPE lﬁ%
PERER
PERER
PERER
PERER

H
ray
H
ray
H
ray
H

YK

22324C

2785

Wl5
No.

# R

[ I R 151 R 1

|:':|

=
Ju

L

[
=

1]

K

5

fii R SF

JIit 0

JIii 45° JIii 90°

JIjt

135°

It 180°

I 225°

N

i 1] | N

i 1 | N i

] N

N

i TN |

7.1

690

220 | 380

630

450 | 350 | 610 | 450

580

450

400

560

450

400

530 | 450

450

775

250 | 460

700

480 | 480 | 670 | 520

640

520

450

610

520

460

580 | 520

480

860

285|520

780

600 | 500 | 760 | 600

720

600

550

700

600

500

650 | 600

580

10

950

325|580

870

600 | 600 | 835 | 650

800

650

550

760

650

550

720 | 650

600

11.2

1060

380 | 750

980

800 | 680 | 940 | 800

900

800

700

860

800

700

810 | 750

750

125

1175

410|770

1085

900 | 700 {1035| 900

990

900

780

945

850

780

900 | 820

820

14

1310

450 | 800

1210

950 | 750 {1160| 950

1110

950

850

1060

900

850

1000| 900

900

16

1500

500 | 900

1380

1000| 960 |1320{1040

1260

1040

880

1190

1040

900

1140|1040

960

138






